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SECTION “A
Answer any FIVE of the f°“°Win . ST-AL?‘LS!H&E?_\,LLEGE

: : e 2k 5x4=20
1. Explain the various Investment Object MANGALORE-575 #md ( )
ives,

he BSE sensex rose t
RIS © @ historic high of 38,896 on 28 August 2018 and to a
low of 34001 on 11 October 2018

Discuss the economic factors that have
affected the BSE sensex,

AnBlySSTASIDIE Dlirstios; eflecting the financial health of a company.

4, Differentiate between fundamenta| analysis and technical analysis.

5. Explain the surveillance system of a stock exchange

Explain the criteria adopted for selection of 30 scrips for BSE Sensex index.
7. Explain industry life cycle theory.

SECTION - B
Answer any FOUR of the following:

(4x10=40)
8. Explain any five forms of investment alternatives.
9. Explain the process of Opportunistic Model Building

10. Summarise the analysis of competitive environment using Porter's Model.

11. Explain point and figure charts.
12. Elaborate the trading and settlement procedure of a stock exchange.

13. Explain Dow theory and its use to determine the direction of the stock

market.
SECTION - C (Compulsory) (1x10=10)
14. Calculate the 5 day EMA for the following data:
Day 1234|557|3910!

Closing Price (¥) | 90 | 95 | 94 | 96 | 100 | 98 | 96 | 95 | 97 | 100

ko AR R Rk
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SECTION - COLLEC®xa=20)
gnswer any. ﬂ!ﬁ questiuns_ %TAL(:‘('.S{H&”\
2575 ('R

griefly explain the different types of mergers"!!‘halgfﬂu?siftllons.
state the reasons for failure of merge g and acquisition.

Wwhat are the provisions of AS 14 gnq (prs -3 on mergers?

Explain human and cultural issues jnyolved in integration for merger and
acquisition success.

What do you understand by agency problem?

6. Write a note on Equity Carve outs in mergers and acquisition.

2. Explain the concept of Spin offs with sujtable examples.

SECTION - B (4x10=40)

Answer any EOUR questions.
8. Discuss the various antitakeover defences employed by target companies in

the U.S and in India.
9. Explain the various plausible reasons and dubious reasons for mergers.
d ESOPs.

oW e

ok

10. Explain the difference between Leveraged and Non-leverage

Discuss the limitations of ESOPs.
11. Alpha Ltd. plans to acquire Beta Ltd. Following ar

statistics of the two firms:

e the pre-merger vital

Alpha Ltd. Beta Ltd.
50 20

34 16

Market price per share (%)

Book value per share (%)
Number of outstanding shares 4,50,000 2,25,000
Market value of the firm () 2,25,00,000 | 45,00,000
to the sﬁholder‘s of firm Beta one share in
in Beta Ltd. The merger (s
t value of ¥50 lakh. Should

Firm Alpha offers
exchange for every two shares held by them

expected to bring gains, which have a presen

Alpha Ltd. acquire Beta Ltd.?

12. Two companies, Inquest Ltd. and Impress Ltd., have decided to merge.

two firms are as follows:

The relevant financials of the tW= ———
Inquest Ltd. | Impress Ltd.
Total Earnings, E (in 2 lakhs) 20 125
T
Number of shares outstanding: BidinLakn) - 9
s 5
Earnings Per share, EPS (%) 18 s
7
P/E Ratio, (Times) - 19 ==
150
Market price per share, P (¥)
p p _-—-"'-'_'-'-_ co“tduuz
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INVESTMENT BANKING Anp FINANCIAL SERVICES

Time: 3 hrs. Max Marks: 70
SECTION - A
Answer;any EIVE of the following: STALOYSIUS COLLEGE
What are the features of financial services? PG Library

2. What is a leveraged lease? MANGALORE-575 gy

Write a brief note on regulatory frame work, applicable to credit rating

x

agencies in India.

What do you understand by “green shoe option”?
Distinguish between forfeiting vs factoring.
Explain the concept of Hire purchasing.

N oo os

What is devolvement? How do you ascertain it?

SECTION - B

Answer any FOUR of the following: (4x10=40)
Explain the Pre-issue activities to be supervised by a merchant banker.
Explain the SEBI guidelines relating to issue management.

10. Explain the various steps involved in the rating process.

11. Briefly discuss the services performed of NSDL and CDSL.

12. Explain the functions of IDBI and ICICL

13. Explain the process involved in pricing of IPQO’s.

SECTION - C (Compulsory) (1x10=10)
14. Welsh Ltd is faced with a decision to purchase or acquire on lease a mini car.
The cost of the mini car is z1,23,965. It has a life of 5 years. The mini car can
be obtained on lease by paying equal lease rentals annually. The leasing
company desires a return of 10% on the gross value of the asset. Welsh Ltd
finance from its regular banking channel. The rate of
p.a. and the loan will be paid in five annual equal
installments, inclusive of interest. The effective tax rate of the company s
40%. For the purpose of taxation, it is to be assumed that the asset will be

written off over a period of five Y€ars on straight line basis. Advise Welsh Ltd

about the method of acquiring the car.

can also obtain 100%
interest will be 15%

**##*#***********m
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HJ AmYSIUHLOLLHt
SECTION v Library (5%x4=20)

answer any EIVE of the following, MANGALORE €vs

1. XYZ Ltd. A registered supplier of goods i effectmg supplies thruugh E-Comm
Ltd (an electronic commerce operator). It has made taxable supplies of goods
amounting T 25,00,000 in month of December 2018 through E-Comm Ltd. E-
Comm Ltd has returned goods amounting to ¥ 2,50,000 to XYZ Ltd. during the
month of December 2018. Determine the amount of tax to be collected at
source by E-Comm Ltd,

2. What is the legislative objective of bringing into existence the provisions
relating to transfer pricing?

What is unilateral relief in case of double taxed income? How is it calculated?

4, The total income of Hexa Ltd., a domestic company, computed under the
normal provisions of Income tax Act, 1961 is ¥ 12,00,000 which includes long
term capital gain of ¥ 2,00,000. However the book profits of the company
(calculated as per Section 115 JB) amounted to ¥ 25,00,000. Calculate the tax
liability of company for assessment year 2019-20 and tax credit.
As a tax expert, analyse the tax aspects of own or lease decision.
Yaman Limited is a company in which 60% shares are held by Piloo Limited.
Yaman Limited declared dividend amounting to ¥ 35 lakh to its share holders
for the financial year 2017-18 in its Annual General meeting held on 10" may,
2018. Dividend distribution tax was paid by Yaman Limited on 15" July 2018.
Piloo Limited declared an interim dividend amounting to ¥ 50 lakh on 15"
October, 2018 for the year ended 31 March 2019.
Compute the aumount of tax on dividend payable by Piloo Limited.
What would be your answer, if 58% shares of Piloo Limited are held by Kafi
Limited, an Indian Company?
Does the position change further, if Kafi Limited is a foreign company?

7. Explain the provisions relating to deduction of tax at source.

SECTION - B
Answer any FOUR of the following- (4x10=40)
8. a) What is a double taxation relief? Explain double taxation relief in case of

specified association [Sec 90A].
Contd...2
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10.

a)

b)

a)

b)

page no. 2

Nano Inc. a German comps‘!."Y hnlds 45% of equity in Hitech Ltd, an
Indian Company. Hitech Lmiceees €N0aged in development of software
and maintenance of the same for CUstomers across the globe. Its clientele
includes Nano Inc.

During the financial year 2018-18 Hitech Ltd had spent 2400 man hours
for developing and maintainiNg Softwa . for Nano Inc. with each hour
being billed at ¥ 1300. Cost iNcUred by, Hitech Ltd for executing work for
Nano Inc. amounts t© 220 lakh, Hitech Ltd had also undertaken
developing software for Modi INdustries, g, which Hitech Ltd had billed
¥ 2700 per man hour. The PESONS Working for Modi Industries and Nano

Inc. were part of the same team and were matching credentials and

caliber. Hitech Ltd made @ 9rOSS Profit of 60% on Modi Industries work.

Hitech Ltd's transaction with Nano Inc are comparable to the transactions

with modi Industries, subject t0 the following differences:

i) Nano Inc gives technical know how support to Hitech Ltd, which
can be valued at 8% of the normal gross profit. Modi industries
does not provide any such support,

i) Since the work for Nano Inc involved huge number of man hours, a
quantity discount of 14% of normal gross profits was given.

i) Hitech Ltd had offered 90 days credit to Nano Inc., the cost of
which is measured at 2% of the normal billing rate. No such
discount was offered to Modi industries.

Compute arm'’s length price as per cost plus method and the amount of
increase in total income of Hitech Ltd.

Explain transfer pricing as per Sec 92 of the Income tax Act, 1961.
Discuss the conditions for applicability of arm’s length price in the
international transaction.

Lolita, a resident Indian has derived the following income:

ST.ALOYSIUS COLLEGE z
PG Library
MANGALORE-375 0w 2,80,000

Income from profession
Share income from a partnership firm in country M [tax paid 50,000
in country M for this income |n equivalent Indian ¥10,000]

Commission income from a concern in country N [tax paid in 35,000
country N @ 20%] converted in [ndian rupees.

Interest from scheduled banks 18,000
Lolita wishes to know whether she is eligible to any double taxation relief
and if so, its quantum, India does not have any double taxation
avoidance agreement with country M and country N.

Define tonnage tax scheme and tonnage Income. How Is

tonnage income Computed?

Contd...3
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A tonnage tax company has the following qualifying ships:
Ship

Type of ship ~ | Net tonnage Days for which
Crareer. - | operated
A C::artered in on bare boat 5,000 200
charter cum demise

B | Owned vass—

8,000 200
ghartered in for 6 years on 6,000 180 |
are boat Charter pasis
._-___*_-_--‘ﬁ___
D Time charterag ) | 9,000 190

What tax consequences wil| arise for the tonnage tax company?

11.

Sona Ltd, a resident cqmpany, earned a profit of T 15 lakh after debit/credit of

the following items to its statement of profit and loss for the year ended

31-03-2019.

US COLLEGE
| -i'-l.u_‘:

MAGALOURE-575 003

[ Ttems debited to Profit and Loss Ajc

Item credited to Profit and Loss A/c

institution (unpaid before | 1,00,000
filing of return)
Penalty for infraction of law 50,000

Provision for the loss of
subsidiary

Provision for doubtful debts 75,000

l_

70,000 | Profit from unit established | 5,00,000
in SEZ

Share in income of an AQOP

as a member 1,00,000
Provision for income tax 1,05,000 | Income from units of UTI 75,000
Provision for gratuity based Long term capital gains 3,00,000 |
on actuarial valuation 2,00,000
Depreciation 3,60,000
Interest to financial

Compute minimum alternate tax u/s 115 JB of the income tax Act, 1961 for
assessment year 2019-20. Other Information:

Depreciation includes ¥ 1,50,000 on account of revaluation of fixed

assets.

Depreciation as per income tax rules ¥ 2,80,000.

Balance of statement of profit and loss shown in balance sheet at the

assets side as at 31-03-2018 was ¥ 10 each which includes unabsorbed

depreciation of ¥ 4 lakh-

The capital gain has been invested in special assets u/s 54 EC.

The AOP, of which the company is a member, has paid tax at maximum
(]

marginal rate. .
Provision for Income tax includes T 45,000 of Interest payable on Income

kA Contd...4
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fﬁaﬁw
Fines and penalties
Depreciatian

provision for contingent
liability

proposed dividend

Loss of subsidiary

company

25,000
2,60,000
70,000

1,50,000
2,00,000

Additional information:

) General charges
¥ 22,000.

65,000

1ab

'———_______‘-_________

Page no. 5

\LOYSIUS COLLEGE

include donation to prime minister's relief fund

Depreciation as per income tax Act T 3,00,000.

Brought forward business loss and depreciation:

| As per Accounts As per IT Act
B/F business losses 3,00,000 4,00,000
Unabsorbed depreciation 50,000 1,50,000

iv)

Investment reserve was created during previous year 2000-01 as a

result of profit on revolution of investment directly credited.

v)

The LTCG has been invested in NHAI bonds as per Sec 54 EC.

Calculate the tax liability as per normal provisions of IT Act and as per MAT. Is

the company entitied to any tax credit under Sec. 115 JAA?

s e
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10.

SECTION -A PCi Library
Answer any FIVE of the foltowing= ,\.1.5.M;A|,0m-'.s‘?5 Yyl (5x4=20)
Explain the need for global Convergence of accounting
Distinguish between forensic accounting and auditing.
Explain the concept of value addeq.
Wwhat are International Financial Reporting Standards

List the limitations of environmenta| accounting.

A firm has started its business with a capital of Rs 10,00,000. It has
purchased fixed assets with Rs 500,000 in cash. It has kept Rs 2,60,000 as
working capital and incurred Rs 2,40,000 on recruiting, training and
developing the engineers and few works. The value of the engineers and
workers is assessed at Rs 8,00,000.

prepare a balance sheet to show the above.

Explain the purpose of window dressing.

SECTION - B

Answer any FOUR of the following: (4x10=40)

Consider below the data regarding the age and the average earnings per

employee of a manufacturing organization.

Age(in years) Average annual earnings per employee
(Skilled employee)

25=3% Rs 4000
35-44 Rs 5,000
45-54 Rs 6,000
55-64 Rs 5,000

There are 500 skilled employees in this organization.

Calculate the value of human resqurces according to Lev and Schwartz Model.

Assume the discount rate at 10%.

Explain the creative accounting techniques. Discuss the impact of creative

accounting on corporates.

Discuss the utility of forensic accounting. List the responsibilities of a forensic

accountant.
Contd...2
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11.

12,

13.

14.

scri Fla
With the help of an examplé ae Mr}}bf?xlltz model of human resource

_ e US COLLEGE
valuation. MANCG L m. o ,,,
ation of gqrlORE &
Social I::-alance sﬁeet Present the

in
llowing datg taken from the books of X Ltd.

Rs
__-—-——'""-_'_-_.__F___‘_—-‘_‘—\—___
Medical facllities 45,00,000
- -———“-_-_._-_._-__-_._-__---_---_‘—————-_
Training programmes AT L 10,00,000

r
Explain the methodology of PreP?

social income statement for the f0

_.__'_'_-_-_._-_-—-_-_‘-—_"_—————
Generation of job opportunities 40,00,000

— — L n _-_.__-_.______-_-‘—-_-_-'—__
Educational facilities for children of staff 15,00,000

= |t
Extra work put in by staff for drought relief 16,00,000

S
Municipal taxes 5,00,000

- '—__.—_—-*—_-_-—__
Increase in cast of living due to therma| power 12,00,000
station

Environmental improvements 25,00,000

Explain the utility of environmental accounting, Describe the environmental
accounting practices in Indian corporate sector,

SECTION - C (Compulsory) (1x10=10)
From the following information, Calculate EVA
12% debt capital Rs 2,000 crores.
Equity capital Rs 500 crores
Reserves and surplus Rs 7,500 crores
Capital employed Rs 10,000 crores
Risk free rate 9%
Beta 1.05
Market rate of return 19%
Net operating profit after tax Rs 2,100 crores
Tax rate 30%

K oK oKk ok o ok ok R
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Answer any EIVE of th N=A ST ALOYSIUS COLLEGE
_ e follnwing: PG Library (5x4=20)
1, Compare an investor and a Speculator MANGALORE-575 093

7. The BSE sensex rose tg 3 historic h

h of 38,89 18 and to a
low of 34001 on 11 g 6 on 28 August 20

October 2013, Discuss the economic factors that have
affected the BSE sensex.

Write a note on NSE,

Appraise the regulatory framework of stock exchanges.

Analyse the factors that differentiate one index from another.
Explain E-IPOs,

I

Explain industry life cycle theory.

SECTION-B
Answer any FOUR of the following: (4x10=40)
8. Explain any five forms of investment alternatives.

9. Analyse any two forecasting techniques
10. Explain Z score analysis.
11, Explain charting techniques.
' 12. Discuss the various methods of computation of stock market indices.

13. Explain the factors that are analysed in company analysis.

SECTION - C (Compulsory) (1x10=10)

| 14, Explain breath of the market.
Calculate breadth of the market for the data given below,

Day Advances Declines
Tuesday 630 527
Wednesday 690 475
Thursday 746 424
Friday 492 630
Monday ______ :zz :2; !‘
Eesday = ;

|
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10.
1.

e 3 hrs- SECTION - A PR e
- Sh.at2larly VAW A1 A
nswer any of the following: FG Likrary -
: = MANGALORE-575 993 (5x4=20)

what is merger? Explain the various types of mergers.

gxplain briefly the “efficiency theory’ and the monopoly theory’ of merger.
what do you understand by 'Exchange Ratio’? What are the commonly used
pases for determining Exchange Ratio?

gxplain the rationale for joint venture.

what are the Implications of Companies Act, 2013 on mergers and
restruckuring?

Discuss the tax aspects of demerger.

Write 2 note on Human Resource due diligence.

SECTION - B
Answer any FOUR of the following: (4x10=40)
"Mergers and acquisitions do not always generate value”. Comment.
Explain the various steps involved in a merger. State the provisions of AS14
and [FRS-13 relating to merger and acquisitions.
Discuss the various anti-takeover defences that are commonly followed.
As the finance manager of Multibex company ycu are investigating the
acquisition of Unibex company. The following facts are given:

| Multibex company Unibex company 1'
| Earnings per share 26.00 ¥2.00 |
' Dividend per share 73.00 ¥1.20 |
Ece per share 745.00 712.00

| Number of shares 50,00,000 20,00,000

L

Investors currently expect the dividends and earnings of Unibex to grow at a
steady rate of 5 per cent. After acquisition this growth rate would increase to
7 per cent without any additional investment.

Required: a) What is the benefit of this acquisition?
b) What is the cost of this acquisition to multibex company if it

i) Pays Z15 per share cash compensation to Unibex company and
ii) Offers one share for every three shares of unibex company?

cnnu-liliz

ol S I
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PH 312.3 uire Beta corporation. The f°”°""ing
C
12. Alpha corporation plans tO acd
. .
information is available. "AT&W#BEH corporation
220 million
illion
Total current Earnings, E ﬂ______,_ 5 million
= —
Total Number of outstanding | 20 million
shares, 5 - e _?z_a____——_
: | 30
Marketprice per share, P . | % DR
ey price p ¢ — !&xchang'e ratio acceptable to the sharehmders

a) What is the maximu -
of Alpha corporation if the p/E ratio of the

there is no synergy gain?
b) What is the minimum exchange ratio acceptable to the shareholders

i 1 and i
Beta corporation is P/E ratio of combined entity is 1 A gflEre is 3

synergy benefit of 5 percent?
¢) Assuming that there is no sunergy gai

will the lines ERy and ER; intersect?
ts sewer pipe division for $10 million,

mbined entity is 12 and

13. Donatello Industries wishes to sell i
Management of the division wishes to buy it and has arranged a leveraged

buyout. Management will put up $1 million in cash. The senior lender wil
advance $7 million secured by all the assets of the company. The rate on the
loan is 2 percent above the prime rate, which is currently 12 percent. The
loan is payable in equal annual principal instalments over five year, with
interest for the year payable at the end of each year. A junior subordinated
loan of $2 million also has been arranged and this loan is due at the end of
six years. The interest rate is fixed at 15 percent and interest payments only
are due at the end of each of the first 5 years. Interst and the entire principal
are due at the end of 6" year. In addition the lender has received warrants
exercisable for 50 percent of the stock.

The sewer pipe division expects EBIT of $3.4 million in each of the first 3
years and $ 3.7 million in the last 3 years. The tax rate is 33 1/3 %, and the

company expects capital expenditure and investments in receivables and
inventories to equal depreciation charges in each year. All debt serviving
must come from profits (Assume also that the warrants are not exercised and
there is no cash infusion as a result)

If the prime rate stays at 12 Per cent on an avera
years, will the enterprise be able to Sevice the debt pr.
If the prime rate were to rise to 20 percent in the s
that for second year through the sixth year, would th

ge throughout the siX
operly?
econd year and averagé

e situation change?
contdutlls
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SN=C (Compulsory)

| h | (1x10=10)
an acquirer Nas an OpPerating profit of 2350 million and

Fitof the target firm has an
opefﬂtmg profit of Y175 million before the merger and acquisition deal. Post-
acquisition the deal

A

IS expected tq create an operating synergy of 75 million
i terms of revenue increase ang cost reduction. The cost of capital is 10%
and 12% for the acquirer and target company respectively. Post deal, cost of
capital is 11.5% for the acquirer, If the reinvestment rate is 50% and the
gf'O"""th rate is 4.5% for the acquirer post M & A deal, determine the value of
gynergy 9ains and total consideration paid in the deal. Corporate tax rate is

0 ST.ALOYSIUS COLLEGE
35%: PGilLibrary
3 oK 2K 3k K 3K 3 o K ok e o K K K KOk K MANGALORE-575 003
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Answer any EIVE of the foum‘:ﬂ =A
1 yhat are the functions of credit RaL?' (5x4=20)
: ‘ Hn
, ctate the objectives of depositery se glfirms?
£ rvices.
3, Defin€ Lease. What are its essent ST'M':TSI'UE COLLEGE
. : al ETEments? o Lo r‘_ﬁl‘v
4, Write @ brief note on Book Built-offer MANGALORE-575 003
3 Write @ note on pricing of IPOs, '
;. Distinguish between Investment Banking and Merchant 8anking.
;. Define Non-Banking Financial Company
SECTION - B
answer any FOUR of the following: (4x10=40)
g, Discuss the problems and prospects of leasing industry in India.
9. Describe the depository precess in India.
10. Explain the role and functions of IDBI and EXIM Bank.
11. Briefly explain the role of a Merchant Banker as Issue Manager.
12. Explain the underwriter’s risks in firm underwriting.
13. Explain the features of New generaticn Banks with examples.
SECTION - C (Compulsory) (1x10=1C)
14 XYz Ltd is in the business of manufacturing cteel utensils. The firm is
duct line. The firm either can buy the

iversify and add a new pro

lease.
r ks 15,00,000. It is expected to have a

alue of Rs 1,00,000 after the expiry of 5
d by 20% loan repayable in five equal
g due at the end of each year.
end lease rentals of Rs
{on it shouid choose. For

planning to d
reguired machinery or getitcn
The machine can be purchased fo
useful life of 5 years with salvage Vv
years, The purchasé can be finance
instalments (inclusive of interest) becomin :
Alternatively, the machine can be taken year-
4,50,000 for 5 years- Advise the company which opt

i ; following:
your exercise, you may assume the 10 . .
i) The mac},\ine will constitute @ separate block for depreciation purposes.

The company follows written down value method of depreciation, the

rate of depreciation being 25%-:

. ital Is 18%.
' is 35% and cost of capi
) TeXE s arc to be paid at the end of the year.
at Rs 30,000 per year are to be

ili) Lease renta

iv) Maintenance expenses estimated
borne by the |essee.

' ***ﬁl*#***

$$$$#$#$*
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B? What are the conditions for carry forward
and set off of MAT credit? &

What do you mean by 'Slump Sale
slump sale?

™3

? What are the tax implications on

3. Explain the manner of computation of Income under tonnage scheme.

4, Royal company has calculated Its Book profit as per the provisions of
section 115 JB of the Income Tax Act 1961 at Rs 95 Lakhs as against the
total income of Rs 30 Lakhs for the assessment year 2018-19 as per the
statement of profit and loss account of the company. Calculate the amount
of Tax payable by the company.

5. Shri Bharat, a resident Indian and aged 67 years, has derived the
following income during the previous year 2017-2018.

T
Income from Business in India 5,00,000
Commission(Gross) from a company in Hong Kong 2,00,000
(tax paid in Hong Kong Rs.6000)
Dividend(Gross) from a company in Hong Kong 1,50,000
(tax paid in Hong Kong Rs.18000)
Interest on fixed deposit with banks in India. 80,000

India has no double tax avoidance agreement with Hong Kong. Compute
the Income and Tax payable by Shri Bharat for the assessment year
2018-19,

6. A Ltd (domestic company) has taken a building on lease. It has subleased
the building along with furniture to B Ltd(domestic company) and will
receive the following amounts as consideration for the sublease during the
financial year 2018-19.

Rent Rs 4}80}000

Furniture hire charges  Rs 40,000
Compute deduction of Tax at source u/s 1941.
’. Give g note on Tax planning in relation to dividend Income.

SECTION - B
Answer any FOUR of the following:

8, What do you mean by the term ‘Infrastructure Facility'? Explain briefly the
deductions in respect of profits and gives from undertaking engaged in

(4x10=40)

Nfrastructure Development.
Contd..2
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pﬁ’ P No 3
, The following is the py 7 C(Campulsow)

of g
financial year ending 315t MTR Ltd, an Indian company for the

March 2015

EEUrchaSES ____mmo—" By Sale S50 000000 |

To factory expenses [124,00,005 — By  dividend 1::} = 0:'.;0 =
from foreign |

“To Depreciation _JW b Y = |

[To GEneraTlmm-—— |

Expenses

To Income Tax 4,00,000

' To net profit 52,00,000

T 1,10,00,000 1,10,00,000

1) Depreciation allowable as per Income Tax Act is Rs 3,00,000.

2) The company has various depreciable assets. During the year, a
block of P & M was revalued to a higher figure; such revaluation
resulted in excess depreciation of Rs.40,000.

3) General expenses include actual bad debts of Rs 2,000.

Calculate:
a) Total Income under normal provisions of Income Tax Act for AY

2018-19. ST.ALEYSIUS COLLEGE

(v Librar
b) Book profit under MAT M*N‘-’JAI.(}RE.g';S o
c) Find Tax Liability

#* *##**###******#*

Scanned by CamScanner



Nove
cona. mber - 201
ORARY ISSUES 1IN ACSOUNTING

e 3ihre:
Max Marks: 70

SECTION - A
answer any FIVE of the following
venus Ltd has an asset which is :

Rs 500 lakhs. As at that date ¢
selling price is Rs 375 lakhs,

(5x4=20)

:arried in the balance sheet on 31-3-2018 at
€ value in use is Rs 400 lakhs and the net

Calculate impairment loss as per Indian GAAP STALOYSIUS COLLEGE
" .I llr” T
;. Explain the concept of Gross Value added s :';'“:'5’5’._"_"@

Describe the concept of shareholders Value Added

L

4, List the implications of Human Asset Reporting

write @ note on accountability of forensic accountants.

wn

5. Analyse the importance of social accounting.

What is creative accounting?

-

SECTION - B

Answer any FOUR of the following:

8. Explain Lev and Schwartz model of human
data given below calculate the value of human

Schwartz model.

(4x10=40)

resource accounting. From the
resource using Lev and

Average annual earnings per employee

Age(in years)
(Skilled employee)

25-34 Rs 60,000
1y 3544 ., yp RS 75,000
‘ 45-54 Rs 1,00,000

There are 400 skilled employees in the Cpaplaaipienme: herd=ees

rate at 12%.

9 Discuss the various Win
explain their impact on the p

10, Write a note on Human Resourc

1 et of preparat!
escribe the methodologYe help of an illustration.

social balance sheet with th
on corporates. Discuss the

dow dressing practices adopted by corporates and

erformance.
e Accounting practices in India.

on of social income statement and

Describe the Impact of creatlveaciizoni?:gtg
measurement to mitigate creative

R,
Contd...2
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PS 315.3 e information given below

r two years from th

13. Compute EVA of X Ltd fﬂ_‘_ﬂ____ e T [Yearz ) 4
[ N Rs 3,000 |Rs 3,500
Average capital employed (12khs) Rs 850 | Rs 1,250
(adjusted for tax effect) _Es—éa———ﬁ——-—'
| Corporate income taxes(lakhs) s | 35%
%
Average debt to total capital employed(%) e R ST
= 110 1.
Beta L N =
_  ——T77750% |12.50% =
Risk free rate(%) _i:.;__o 10% -
——— . ilao
Equity risk premium(%) %
% \
Cost of debt(post tax) 19 %}

SECTION - C (Compulsory) (1x10=1) .

14. From the following data prepare a value added statement of B Ltd for the

year ended 31-3-2018.

Particulars Rs Particulars Rs
Decrease in stock 24,000 | Sales 40,19,000
Purchases 20,20,000 | Other income 55,000
Wages and salaries 10,00,000
Manufacturing expenses | 2,30,000
Finance charges 4,69,000
Depreciation 2,44,000
Profit before taxation 87,000
40,74,000 40,74,000 1

Particulars Rs
Profit before Taxation(PBT) 87,000
Less:Tax provision (40,000) $TALOYSIUS CCLLEGL

Income tax payments(for entire years) |(3000) “\\:;LU;::;?;S o
Add: Earlier year profit- brought forward 38,000

Profit after taxation(PAT) 82,000
Appropriation of PAT :
Debenture Redemption Reserve 10,000 |
General Reserve 10,000
Proposed Dividend 35,000
Balance carried to balance sheet 27,000
Total e

82,000

e e

o4k e ke e K e ok ke Aok ok e
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St Aloysius College (Autonomous)
Mangaluru
Semester III - p.G. Examination - M.Com.
November - 2017

gQUITY RESEARCH AND SECURITY MARKET OPERATION

me: 3 hrs: ‘TMOYSlUS COLLEGE
T PG Library Max Marks: 70
SECTIDNN(AN L ORE-575 003
Answer any FIVE of the following: (5x4=20)
pefine Equity Res
e quity Research. State the objectives of Equity Research.
hat do you m

2. W Y ean by secondary market? Distinguish between primary
market and secondary market.

3. Write a note z-score analysis.

s Give the meaning of technical analysis. What are the assumptions of
technical analysis?

5. What are Japanese candle sticks? How are they used to analyse the
stocks?

6. Briefly explain the liquidity ratios

7. Calculate a five day moving average from the'closing prices of shares
given below.

Day 1 2 3 4 5 6 7 8 9 10
Prices
510 | 522 | 538 | 546 | 546 556 | 542 | 542 | 552 | 534
%)
SECTION - B
Answer any FOUR of the following: (4x10=40)

8. Highlight the various measures taken by SEBI to protect the interests of
the investors.

9. Critically analyse the various technical analysis tools and their utility.

10. “Industry life cycle performance accelerates market growth as well as
facilitates Investors to enter and exit from the market” Elaborate this
statement with reference to different stages.

11, Describe the techniques commonly used by analysts in economic

forecasting.
contd...2

N

- ——————eSGECeETRT
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p
12. From the following data, calculate -

a) Price-weighted Index b) Equally weighted Index

¢) Value Weighted Index

ber of shares |
Stocks | Share Prices on | Share Prices on | Num
30.6.2016 (%) 30.6.2017 (X) outstanding

A 54 60 1,00,000
B 66'1’ FLIFE I.H-F ‘ Gﬂ T2 1'50’000 —
c 60 .+ 180 12 |72 2,00,000 —

Consider 30.06.2016 as Base Year,
13. a) Write a note on ‘Breadth of the market’.

b) Compute the breadth of the market from the following details,

Day Number of Number of
shares advances | shares Declines
[~ 802 748
2 917 640
3 703 772
4 512 1122
5 633 1044
: ~ SECTION - C (Compulsory) (1x10=10)
14. Closing values of BSE Sensex from 6™ to 17t January 2017 were as follows
Day | Date | Week day Sensex
1 6 Thursday 14522
2 7 Friday 14925
3 8 Saturday No trading
4 |9 |Sunday Notrading |
5 10 | Monday 15222
6 11 Tuesday 16000
7 12 Wednesday 16400
8 13 Thursday 17000 o
9 14 | Friday No trading
10 |15 Saturday No trading |
(11 |16 [Sunday No trading
12117 TMonday 18000
mmm_&ponential

Moving Average (EMA) of the sensex during
the above period,

*******t**********
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Pre il
PH3123 LA If“
d. The financial detajls of
12. A Ltd Is negotiating to acquire T Lt boty, 3
Companies are glven below. : i
Particulars A Ltd Lt
Earnings ¥50 lakh 710 lakh
No of shares | 10 lakh 4 lakh
outstanding
EPS 35 2.5
P/E Ratio (times) 12 6
Market Price per share | 260 15

You are required to compute minimum and maximum €xchange ty
acceptable to the shareholders of T Ltd and A Itd respectively at p/g 'e"€§q
9,10, 11, 12 and 13 times. ! i
|

13. McNabb Enterprises [s considering going private through a leveraged buyoy

by management, Management currently owns 21 Percent of the g5 Milligy

shares outstanding. Market price per share is 20 and it js felt that , 4
Percent premium over the present price will be necessary to e

shareholders to tenderitheiri shares'in a cash offer.

shar Management Intends to
keep its shares andt tg*b'b';gin senior debt equal to 80 Percent of the fyng

necessary to con umate the buyout, The remaining 20 percent will come
: .frqrnljunior.-subnrgl.ngt_ed debentures,

Ntice Publie

nitial loan at the end of each of the nextEv!
te

gle baloon payment. iTh:
debentures have warrants attached that enable the holders to purchase 30

percent of the stock at the end of 6" year, Management estimates that
earnings before interest and tayes Will be 225 million per year. Because of

tax-loss Carry forwards

Contd...p+? .
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SECTION - C (Compulsory) (1x10=10)

14. Luxury foods is contemplating acquisition of Galaxy Canning company for a
cash price of ¥1,80,000. Luxury currently has a high financial leverage and
therefore has a cost of capital of 14 percent. As a result of acquiring Galaxy
Canning, the firm expects its financial leverage is reduced and its cost of
capital to drop to 11 per unit. The acquisition of Galaxy Canning expected to
increase Luxury's cashflows by 20,000 per year for the first 3 years and by
¥30,000 per year for the following 12 years.

a) Determine whether the proposed cash acquisition is desirable. Explain
your answer,

b) If the firm’s financial leverage would actually remain unchanged as a

result of the Proposed  acquisition, would this alter your
recommendation in part ‘a’? Support your answer with numerical data.
SRV ol
MAN(TG l.i.l;&l"_‘lf
ALORE-575 003
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pH 313.3 Reg. No.
St Aloysius College (Autonomous)
Mangaluru
Semester III - p.G. Examination - M.Com.
November - 2017
INVESTMENT BANKING AND FINANCIAL SERVICES
ime: 3 hrs. Max Marks: 70

SECTION - A
Answer any FIVE of the following: (5x4=20)
1. Define ‘Merchant Banker”,

2. What is the differences between ‘private placement’ and ‘Right issue'?
3. Write a note on SEBI Regulations governing underwriting of shares and
debentures,
4. Explain the development and regulations of investment banking in India.
5. Who is a depository?
6. What are the advantages of forfeiting? , K
7. Write a note on NBFC, Hlat Ry ;..[)'_LL&. E
CIE 575 003
SECTION - B
Answer any FOUR of the following: (4x10=40)
8. ?r:jgﬂy provide the structure of investment banking and financial services in
ndia.

9. Explain the functions of Merchant Bankers in Issue Management.
10. Explain the process involved in pricing of IPO’s

11. What Is Credit Rating? Explain the credit rating mechanism of any four rating
agencies.

12. Explain the services offered by NSDL and CDSL.
13. Explain the function and role of EXIM Bank.

SECTION - C (Compulsory) (1x10=10)

14. Maruthi Ltd is the business of manufacturing aluminum products. The firm is
planning to diversify and add a new product line. The firm either can buy the
required machinery or get it on lease.

The machines can be purchased for ¥15,00,000, It is expected to have a
useful life 5 years with the salvage value of ¥1,00,000 after expiry of 5 years.
The purchase can be financed by 20 percent loan repayable in 5 equal annual
installments (inclusive of interest) becoming due at the beginning of each
year. Alternatively, the machine can be taken on year end lease rentals of
¥4,50,000 for 5 years. Advice the company on the option it should choose.
For your exercise, you may assume the following.

L. The machine will constitute a separate block for depreciation purpose, The
company follows W.D.V method of depreciation, the rate of depreciation ‘

being 20%. {
2. Tax rate is 35% per cent and cost of capital is per cent.
3. Lease rentals to be paid at the beginning of year.

4. Maintenance expenses estimated at ¥30,000 per year are to be borne by the

lessee.
Scanned by CamScanner
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St Aloysius College (Autonomous)

Mangaluru
Semester IIT - P.G. Examination - M.Com.

November - 2017.

CORPORATE TAX PLANNING
Time: 3 hrs. ST ALD . .“I"g_lja.:é“l"lli‘lrkﬂ 70

SECTION - A e
Answer any FIVE of the following: M+ MNunai0RL 55 ggd5x4=20)
1. S Ltd, located in SEZ, furnishes you the following information:

a) Export projects of 2250 lakh pertaining to previous year 2016-17.
b) Income from other sources of ¥50 lakh pertaining to previous year
| 2016-17. -
€) Unabsorbed depreciation of 2100 [akh pertaining to assessment year
2013-14.

S Ltd claimed deduction of ¥250 lakh under section 10AA, set-off the
income from other Sources from unabsorbed depreciation and hence
computed its tax liability as NIL. Decide whether the computation made
by S Ltd is correct.

2. Explain in the context of provisions of the Act: The underlying idea behind
DTAA,

3. Explain the manner of computation of Income under tonnage tax scheme.

4. Mention any four methods of computing Arm’s length price as per transfer
pricing provisions.

5. Discuss with reasons whether tax has to be deducted at source in the
faliowjng situations, which have taken place during the year ending March
31, 20’_17 =

; | X & Co., a partnership firm, pays a sum of 343,000 as interest
on loan borrowed from Indian branch of a foreign Bank.

i) Above firm has paid ¥14,000 as Interest on capital to partner A,
a resident in India and ¥22,000 as Interest on capital to partner
B, a non-resident,

6. What tax considerations one has to keep in mind while taking ‘make or
buy” decision?

7. Mr Bamal, a resident Indian and aged 67 years, has derived the following
income during the previous year 2016-17.

T
Income from business in India 2,50,000
Commission (Gross) from a company in Hong Kong (tax paid
) in Hong Kong ¥60,000) 3,00,000
. Dividend (Gross) from a company in Hong kong (Tax paid in
.| Hong Kong 718,000) 90,000
| Interest on fixed deposit with banks in India 2,00,000
1o India has no double tax avoidance agreement with Hong
Kong. Compute the Income and tax payable by Mr, Bansal for
assessment year 2017-18.
Contd.....2
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10.

11.

SECTION - B 0
: 4
Answer any FOUR of the following: | ( “10.%)
X submits the following detalls about his assets:

|
Machine 11 (depreciation rate 25%) was sold for ¥62,000 in May 201
Machine (depreciation rate 25%) and a computer were brought foy 280,
and 20,000 respectively in November 2016. Compute deprecia
allowance for the previous year 2016/17.

Explain the term “Bilateral Relief” in the context of Double Taxatinn
Avoidance agreement, highlighting its provisions.

Tarun shipping Co Ltd, having its registered office in Mumbai, plies bw
Oceangoing vessels which it owns. Registered tonnage of two vessels |
47,549 tonnes and 800 kgs and 25,749 tonnes and 400 kgs respectively, 1,

the accounting year, the first vessel was operated for 360 days ang the
second for 199 days,

6.4
0
tlop

The accounts of the company reveal the following results: |

i) Profit from core shipping activity ¥60.50 lakh
i) Profit from incidental activity ¥15,000

Compute the tax payable by the company for the assessment year 2017-
18, taking note of the new provisions of t

he law relating to taxation of
income of shipping companies.

Compute the amount of TDS on the follo
During the previous year 2016-
1961- ’

wing payments made by S (td,
17 as per Provisions of the Income tax Act,

S. No | Date Nature of pa ment

i 01.10.2016 | Payment 0f%2,00,000 to Mr. R 3 transporter who Is

Ii 01.11.2016 Fazrnent of Fees for technical services of ¥25,000
an

nd Royalty of 220,000 to M. Shyam who Is havini

iil[30.06.2016 payﬁéﬁ?wm i repar of
| building,

v [01.01.2017 [ Pay
ri

pecifications of m/s S
However, no material was supplied for such
diaries to Mr A by m/s s Ltd.

V. [01.01.2017 | Payment of <80, gas —for|

Vi 01.02.2017 Payment

f his h of the
state Governrnent e

of commission of 6,000 to Mr. ¥
__——-__'——_‘—'——-—_._J__

Contd..3
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te (%) | W.D.V as on
Depreciation Rate ( Niioh obie
== 1,50,000
Machine I 25 56 300 |
Furniture 15 . \ |
Machine II 25 20,000 ' '
M&chine 11 50 40,089 !
o =0 40,000
~0mputer (one)

|
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St Aloysius College (Autonomous)
Mangaluru
Semester III - P,G, Examination - M.Com.

November - 2017

CONTEMPORARY ISSUES IN ACCOUNTING
Max. Marks: 70

SECTIONS:[.& LOYSIUS COLLEGE

Answer any FIVE of the following: P Libracy . 003 (5x4=20)
5758 Ul

rime: 3 Hours

?tlpx\l.al.{ll{ll
1. List the objectives of forensic accounting.

What are the limitations of environmental accounting?

]

Why do corporates follow creative accounting?

=

Describe the need for global convergence of accounting practices.

s

5. Explain the significance of IFRS.
6. Explain the concept of value added.

7. Define International Accounting. Explain the scope of lternational dccounting.

F A e

SECTION - B ¢l

Answer any FOUR of the following: (4%x10=40)

8. Explain the methods of measurement of social costs and social benefits.

Present the format of social balance sheet.
S, Explain the challenges of the global convergence of accounting standards.

10, Discuss the impact of window dressing practices on the performance of a

company.
11 Analyse Ithe significance of environmental accounting. List the reporting

requirements of environmental accounting in the annual reports of companies.
12. From the following detalls compute the value of human resources of an
employee group with an average age of 55 years without using present value

of an annuity.
i) Annual average earnings of an employee till the retirement age-
T 20,000
i) Age of retirement - 60 years
iii) Cost of capital — 10%
Iv) No. of employees in the group - 10.
13, Explain the Lev & Schwartz model of human resource accounting with the help

of hvpoﬂ-{etlcal illustration.

|
|
| Contd...2
|
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SECTION - C (Compulsory)
books of X Ltd, -
14. From the following information taken from the P

income statement.

(14

0
DarJ 1

Y
"y

| e
Emnmental Improvements *’3&003
Medical facilities | w
Training programmes 49,009
Generation of'job opportunities m
Municipal taxes ~ m
Increass:- in cost of living in the vicinity due to thermal m
station
Concessional transport 11,10,00q]
Extra work PUt in by staff for drought relief 19,50,0 0
Leave encashment 49,.00,DQU
Education facilities for children EI'TEtaff members | 22,00,000
Subsidized cantean facilities _ﬁ%‘m
Generation of Mm
0 5 b LT T e
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